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SsGRB ver 103a of 2017 June 5 run on 2017-11-24 06:41:23
TO = 533213405.839999 = 2017-11-24 10:50:00.840000
Algr: 1. P15 of FO001: glg_tte b0 171124 10z _vO0O
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1.984 s bins. TO=MET 533213405.839999



counts per hin counts per hin counts per bin

counts per bin

1500.
1450.
1400.
1350.
1300.
1250.
1200.
1150.
1100.

1800.
1700.
1600.
1500.
1400.
1300.

1200.
1500.

1400.

1300.

1200.

1100.

1000.

1500.
1450.
1400.
1350.
1300.
1250.
1200.
1150.
1100.

SsGRB ver 103a of 2017 June 5 run on 2017-11-24 06:41:23
TO = 533213405.839999 = 2017-11-24 10:50:00.840000
Algr: 1. P15 of FO001: glg_tte b0 171124 10z _vO0O

i
LA R
| mwﬁ?ﬁlﬁwn - L Jﬁ
Y 1

1.984 s bins. TO = MET

533213405.839999



counts per hin counts per hin counts per bin

counts per bin

1500.
1450.
1400.
1350.
1300.
1250.
1200.
1150.
1100.

1800.
1700.
1600.
1500.
1400.
1300.

1200.

2000.
1900.
1800.
1700.
1600.
1500.
1400.
1300.
1200.

1800.
1700.
1600.
1500.
1400.
1300.
1200.

SsGRB ver 103a of 2017 June 5 run on 2017-11-24 06:41:23

TO = 533213405.839999 = 2017-11-24 10:50:00.840000

Algr: 1. P15 of FO001: glg_tte b0 171124 10z _vO0O

P*J”me“ﬁ““m et it *f“
el
*;;:rﬁ”ﬂwm I ] N W;

1.984 s bins. TO=MET 533213405.839999



counts per bin

counts per hin

3000.

2000.

3000.

2000.

SsGRB ver 103a of 2017 June 5 run on 2017-11-24 06:41:23
TO = 533213405.839999 = 2017-11-24 10:50:00.840000
Algr: 1. P15 of FO001: glg_tte b0 171124 10z _vO0O

1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
113 to 2120 keV : BO
ety r|‘|_|_|+| I S N = — SO~ S~ ~ L
] pan e L B L ™Yy LRy W0 e o gy s gyl
T T T T T T T | T T T T T T T
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
105 to 2121 keV ' B1
. M - = L IR . = B S [ T - - B |
il I-""l—|—'-'-' |_|_._'_|—|—||_'_l | I B B | '—|—" | I |—i—'|_|-|_|_| LI I|_|_| =
T T T T T T T T T T T T T T T
-40 -30 -20 -10 0 10 20 30 40

1.984 s bins. TO=MET 533213405.839999



